N = 0l & AF & F Al A

A A= g5
HI: AUAASBHSH(SITEANYHE/THLST - L)

SRl A E )|t = (&te @2
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
AgtEs g5 X 6,764,079 7,657,915 893,836

= 48,395 48,395 0
pJ 1,610,060 2,060,060 450,000
[ 5,105,624 5,549, 460 443,836
AN (ZIENLCHE /T LT - 012 ) 6,568,754 7,505,790 /937,036
= 48,395 48,395 0
pJ 1,610,060 2,060,060 450,000
[= 4,910,299 5,397,335 487,036
AR |BIRE 3,307,520 4,207,520 900,000
= 10,000 10,000 0
) 1,610,060 2,060,060 450,000
[ 1,687,460 2,137,460 450,000
SHE19RSXNMAE L 0 900,000 900,000
p 0 450,000 A450,000
[= 0 450,000 450,000
405 KHAHE SH 0 900,000 900,000
pJ 0 450,000 450,000
[= 0 450,000 450,000
01 ML EEFSH| 0 900,000 900,000
OsHES119RSXNESHHB L (E A2 0 900,000 900,000
pJ 0 450,000 450,000
[= 0 450,000 450,000
AU S S22 2435) 3,118,889 3,140,925 A22,036
= 38,395 38,395 0
[ 3,080,494 3,102,530 A22,036
ABOIMES )| RE 117,975 127,475 29,500
301 Yt AR 20,800 30,300 29,500
12 JIEtE A2 500 10,000 29,500
OHIARHMSSEHBRINDZAS
23 500,000 500 10,000 29,500
Zaiesgas 1,554,658 1,567,194 A 12,536
307 @I2+0| ™ 68,234 80,770 A 12,536
05 QIZtRELZ 68,234 80,770 A 12,536
O S HOI R A AR 2 E
ZA 52,464,000 52,464 65,000 A 12,536
A BEOITH QFA O 28 & HYf o 142,345 157,345 A 15,000
ARG 65,345 80,345 A 15,000
307 g12+01 ™ 30,000 45,000 215,000
05 Q12 EHZ 30,000 45,000 A 15,000
OASDDAUA DM ELHZRAY IS (MY
=l 0 15,000 A 15,000
HRES(AYUES USAEN)(22E M UM /THLHEHTH 43,200 0 43,200
plere|)
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